ANNALS OF COMMUNICATIONS IN MATHEMATICS Volume 6, Number 2 (2023), 72-85 ISSN: 2582-0818 © http://www.technoskypub.com



# BEHAVIOR AND FORMULA OF THE SOLUTIONS OF RATIONAL DIFFERENCE EQUATIONS OF ORDER SIX

### J. G. AL-JUAID\*, E. M. ELSAYED AND H. MALAIKAH

ABSTRACT. This paper is devoted to find the form of the solution of the following rational difference equations :

 $x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(\pm 1 \pm x_{n-3}x_{n-5})},$ 

where the initial conditions  $x_{-5}$ ,  $x_{-4}$ ,  $x_{-3}$ ,  $x_{-2}$ ,  $x_{-1}$ ,  $x_0$  are arbitrary non zero real numbers. Also, we study the behavior of the solutions.

# 1. INTRODUCTION

In this paper, we obtain the solution of the following difference equations :

$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(\pm 1 \pm x_{n-3}x_{n-5})},$$
(1.1)

where the initial conditions  $x_{-5}$ ,  $x_{-4}$ ,  $x_{-3}$ ,  $x_{-2}$ ,  $x_{-1}$ ,  $x_0$  are arbitrary non zero real numbers. Also, we study the solution of some special equations. Many researchers have investigated the behavior of the solution of rational difference equations for instance:

Cinar [4] discussed the solutions of the following difference equation

$$x_{n+1} = \frac{ax_{n-1}}{1 + bx_n x_{n-1}}.$$

Ibrahim [16] gave the solutions of the following difference equation

$$x_{n+1} = \frac{x_n x_{n-2}}{x_{n-1}(a+bx_n x_{n-2})}.$$

Karatas et al [17] supplied the solution to the difference equation below

$$x_{n+1} = \frac{x_{n-5}}{(1+x_{n-2}x_{n-5})}.$$

<sup>2010</sup> Mathematics Subject Classification. 39A10.

Key words and phrases. Local stability; Difference equation; Recursive sequences.

Received: March 17, 2023. Accepted: April 21, 2023. Published: June 30, 2023.

<sup>\*</sup>Corresponding author.

Zayed [26] discussed the dynamics of the difference equation

$$x_{n+1} = Ax_n + B_{n-k} + \frac{px_n + x_{n-k}}{q + x_{n-k}}$$

Saleh [24] analyzed the stability and periodicity of the difference equation

$$x_{n+1} = \frac{\alpha + \beta x_n + \gamma x_{n-k}}{Bx_n + Cx_{n-k}}.$$

Elsayed [5] discussed the stability of the rational difference equation

$$x_{n+1} = \frac{a + bx_{n-1} + cx_{n-k}}{dx_{n-1} + ex_{n-k}}$$

For some results about difference equations can be see the references [1-27].

Definition: let I be some interval of real numbers and let

$$F: I^{k+1} \to I,$$

be a continuously differentiable function. Then, for every set of initial condition  $x_{-k}, x_{-k+1}, ..., x_0 \in I$ , the difference equation

$$x_{n+1} = F(x_n, x_{n-1}, x_{n-2}, ..., x_{n-k}), n = 0, 1, ...,$$
(1.2)

has a unique solation  $\{x_n\}_{n=-k}^{\infty}$  [15].

The linearized equation of Eq.(1.2) about the equilibrium  $\bar{x}$  is the linear difference equation

$$y_{n+1} = \sum_{i=0}^{k} \frac{\partial f(\bar{x}, \bar{x}, \dots, \bar{x})}{\partial x_{n-i}} y_{n-i}$$

Theorem A [15]: Assume that  $p_i \in R, i = 1, 2, ..., k$  and  $k \in 0, 1, 2, ...$ . Then

$$\sum_{i=1}^{\kappa} |p_i| < 1,$$

is a sufficient condition for the asymptotic stability of the difference equation

$$x_{n+k} + p_1 x_{n+k-1} + \dots + p_k x_n = 0, n = 0, 1, \dots$$

2. The First Equation 
$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(1+x_{n-3}x_{n-5})}$$

In this section, we give a specific form of the solution of the first difference equation in the form

$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(1+x_{n-3}x_{n-5})},$$
(2.1)

where the initial values are arbitrary non zero real numbers.

**Theorem 2.1.** Let  $\{x_n\}_{n=-5}^{\infty}$  be a solution of Eq. (2.1). Then for n = 0, 1, ...,

$$x_{4n-3} = \frac{df^n}{b^n} \prod_{i=0}^{n-1} \frac{(1+ibd)}{(1+(i+1)df)},$$

$$\begin{split} x_{4n-2} &= \frac{ce^n}{a^n} \prod_{i=0}^{n-1} \frac{(1+iac)}{(1+(i+1)ce)}, \\ x_{4n-1} &= \frac{b^{n+1}}{f^n} \prod_{i=0}^{n-1} \frac{(1+(i+1)df)}{(1+(i+1)bd)}, \\ x_{4n} &= \frac{a^{n+1}}{e^n} \prod_{i=0}^{n-1} \frac{(1+(i+1)ce)}{(1+(i+1)ac)}, \\ \end{split}$$
 where  $x_{-5} = f, \ x_{-4} = e, \ x_{-3} = d, \ x_{-2} = c, \ x_{-1} = b, \ x_0 = a. \end{split}$ 

**Proof:** For n=0, the result holds. Now, suppose that n > 0 and that our assumption

$$\begin{aligned} x_{4n-7} &= \frac{df^{n-1}}{b^{n-1}} \prod_{i=0}^{n-2} \frac{(1+ibd)}{(1+(i+1)df)}, \\ x_{4n-6} &= \frac{ce^{n-1}}{a^{n-1}} \prod_{i=0}^{n-2} \frac{(1+iac)}{(1+(i+1)ce)}, \\ x_{4n-5} &= \frac{b^n}{f^{n-1}} \prod_{i=0}^{n-2} \frac{(1+(i+1)df)}{(1+(i+1)bd)}, \\ x_{4n-4} &= \frac{a^n}{e^{n-1}} \prod_{i=0}^{n-2} \frac{(1+(i+1)ce)}{(1+(i+1)ac)}. \end{aligned}$$

Now, it follows from Eq. (2.1) that

holds for n - 1. That is

$$x_{4n} = \frac{x_{4n-4}x_{4n-6}}{x_{4n-2}(1+x_{4n-4}x_{4n-6})}$$

$$=\frac{\frac{a^n}{e^{n-1}}\prod_{i=0}^{n-2}\frac{(1+(i+1)ce)}{(1+(i+1)ac)}\frac{ce^{n-1}}{a^{n-1}}\prod_{i=0}^{n-2}\frac{(1+iac)}{(1+(i+1)ce)}}{\frac{ce^n}{a^n}\prod_{i=0}^{n-1}\frac{(1+iac)}{(1+(i+1)ce)}(1+\frac{a^n}{e^{n-1}}\prod_{i=0}^{n-2}\frac{(1+(i+1)ce)}{(1+(i+1)ac)}\frac{ce^{n-1}}{a^{n-1}}\prod_{i=0}^{n-2}\frac{(1+iac)}{(1+(i+1)ce)})}$$

$$=\frac{ac\prod_{i=0}^{n-2}\frac{(1+iac)}{(1+(i+1)ac)}}{\frac{ce^n}{a^n}\prod_{i=0}^{n-1}\frac{(1+iac)}{(1+(i+1)ce)}(1+ac\prod_{i=0}^{n-2}\frac{(1+iac)}{(1+(i+1)ac)})}$$

$$= \frac{a^{n+1}c}{ce^n(1+nac)\prod_{i=0}^{n-1}\frac{(1+iac)}{(1+(i+1)ce)}\frac{(1+nac+ac)}{(1+nac)}}$$
$$= \frac{a^{n+1}}{a^n}\prod_{i=0}^{n-1}\frac{(1+(i+1)ce)}{(1+(i+1)ce)}\frac{1}{(1+(n+1)ce)}$$

$$= \frac{1}{e^n} \prod_{i=0}^{n} \frac{1}{(1+iac)} \frac{1}{(1+(n+1)ac)}$$

Hence, we have

$$x_{4n} = \frac{a^{n+1}}{e^n} \prod_{i=0}^{n-1} \frac{(1+(i+1)ce)}{(1+(i+1)ac)}.$$

Similarly, we see that

$$x_{4n-1} = \frac{x_{4n-5}x_{4n-7}}{x_{4n-3}(1+x_{4n-5}x_{4n-7})}$$

$$=\frac{\frac{b^{n}}{f^{n-1}}\prod_{i=0}^{n-2}\frac{(1+(i+1)df)}{(1+(i+1)bd)}\frac{df^{n-1}}{b^{n-1}}\prod_{i=0}^{n-2}\frac{(1+ibd)}{(1+(i+1)df)}}{\frac{df^{n}}{b^{n}}\prod_{i=0}^{n-1}\frac{(1+ibd)}{(1+(i+1)df)}\left(1+\frac{b^{n}}{f^{n-1}}\prod_{i=0}^{n-2}\frac{(1+(i+1)df)}{(1+(i+1)bd)}\frac{df^{n-1}}{b^{n-1}}\prod_{i=0}^{n-2}\frac{(1+ibd)}{(1+(i+1)df)}\right)}$$

$$=\frac{bd\prod_{i=0}^{n-2}\frac{(1+ibd)}{(1+(i+1)bd)}}{\frac{df^n}{b^n}\prod_{i=0}^{n-1}\frac{(1+ibd)}{(1+(i+1)df)}(1+bd\prod_{i=0}^{n-2}\frac{(1+ibd)}{(1+(i+1)bd)})}$$

$$=\frac{b^{n+1}d}{df^n(1+nbd)\prod_{i=0}^{n-1}\frac{(1+ibd)}{(1+(i+1)df)}\frac{(1+nbd+bd)}{(1+nbd)}}$$

$$=\frac{b^{n+1}}{f^n}\prod_{i=0}^{n-1}\frac{(1+(i+1)df)}{(1+ibd)}\frac{1}{(1+(n+1)bd)}.$$

Hence, we have

$$x_{4n-1} = \frac{b^{n+1}}{f^n} \prod_{i=0}^{n-1} \frac{(1+(i+1)df)}{(1+(i+1)bd)}.$$

Similarly, one can easily obtain the other relations. Thus, the proof is completed.

**Theorem 2.2.** Eq. (2.1) has a unique equilibrium point which is  $\bar{x} = 0$ , and is not locally asymptotoically stable.

**Proof:** From Eq. (2.1), we see that

$$\bar{x} = \frac{\bar{x}^2}{\bar{x}(1+\bar{x}^2)},$$

or

$$\bar{x}^2(1+\bar{x}^2-1)=0, \Rightarrow \bar{x}^4=0.$$

Thus the equilibrium point of Eq. (2.1) is  $\bar{x} = 0$ .

Let  $f:(0,\infty)^3 \to (0,\infty)$  be a continuously differentiable function defined by

$$f(u,v,w) = \frac{vw}{u(1+vw)}.$$

Therefore it follows that

$$f_u(u,v,w) = \frac{-vw}{u^2(1+vw)}, \ f_v(u,v,w) = \frac{w}{u(1+vw)^2}, \ f_w(u,v,w) = \frac{v}{u(1+vw)^2},$$

we obtain  $f_u(\bar{x}, \bar{x}, \bar{x}) = -1$ ,  $f_v(\bar{x}, \bar{x}, \bar{x}) = 1$ ,  $f_w(\bar{x}, \bar{x}, \bar{x}) = 1$ . The proof follows by using Theorem A. **Example 2.1.** This Fig.1 Show the solution when  $x_{-5} = 2$ ,  $x_{-4} = 20$ ,  $x_{-3} = 4$ ,  $x_{-2} = -3$ ,  $x_{-1} = 1$ ,  $x_0 = 1$ .

**Example 2.2.** See Fig.2 where we put the initials  $x_{-5} = 1$ ,  $x_{-4} = 3$ ,  $x_{-3} = 5$ ,  $x_{-2} = 11$ ,  $x_{-1} = 0.5$ ,  $x_0 = -1$ .



FIGURE 1. The behavior of the solution of Eq. (2.1).



FIGURE 2. The stability of the solution of Eq. (2.1).

3. The Second Equation  $x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(-1+x_{n-3}x_{n-5})}$ 

In this section is devoted to obtain the solution of the second difference equation which is

$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(-1+x_{n-3}x_{n-5})},$$
(3.1)

where  $x_{-3}x_{-5}$ ,  $x_{-2}x_{-4}$ ,  $x_{-1}x_{-3}$ ,  $x_0x_{-2} \neq 1$ .

**Theorem 3.1.** Let  $\{x_n\}_{n=-5}^{\infty}$  be a solution of Eq. (3.1). Then for n = 0, 1, ...,

$$x_{8n-5} = \frac{b^{2n}(-1+df)^n}{f^{2n-1}(-1+bd)^n},$$
$$x_{8n-4} = \frac{a^{2n}(-1+ce)^n}{e^{2n-1}(-1+ac)^n},$$

$$\begin{aligned} x_{8n-3} &= \frac{df^{2n}(-1+bd)^n}{b^{2n}(-1+df)^n}, \\ x_{8n-2} &= \frac{ce^{2n}(-1+ac)^n}{a^{2n}(-1+ce)^n}, \\ x_{8n-1} &= \frac{b^{2n+1}(-1+df)^n}{f^{2n}(-1+bd)^n}, \\ x_{8n} &= \frac{a^{2n+1}(-1+ce)^n}{e^{2n}(-1+ac)^n}, \\ x_{8n+1} &= \frac{df^{2n+1}(-1+bd)^n}{b^{2n+1}(-1+df)^{n+1}}, \\ x_{8n+2} &= \frac{ce^{2n+1}(-1+ac)^n}{a^{2n+1}(-1+ce)^{n+1}}. \end{aligned}$$

**Proof:** For n=0, the result holds. Now, suppose that n > 0 and that our assumption holds for n - 1. That is

$$\begin{aligned} x_{8n-13} &= \frac{b^{2n-2}(-1+df)^{n-1}}{f^{2n-3}(-1+bd)^{n-1}}, \\ x_{8n-12} &= \frac{a^{2n-2}(-1+ce)^{n-1}}{e^{2n-3}(-1+ac)^{n-1}}, \\ x_{8n-11} &= \frac{df^{2n-2}(-1+bd)^{n-1}}{b^{2n-2}(-1+df)^{n-1}}, \\ x_{8n-10} &= \frac{ce^{2n-2}(-1+ac)^{n-1}}{a^{2n-2}(-1+ce)^{n-1}}, \\ x_{8n-9} &= \frac{b^{2n-1}(-1+df)^{n-1}}{f^{2n-2}(-1+bd)^{n-1}}, \\ x_{8n-8} &= \frac{b^{2n-1}(-1+ce)^{n-1}}{e^{2n-2}(-1+ac)^{n-1}}, \\ x_{8n-7} &= \frac{df^{2n-1}(-1+ce)^{n-1}}{b^{2n-1}(-1+bd)^{n-1}}, \\ x_{8n-6} &= \frac{ce^{2n-1}(-1+ac)^{n-1}}{a^{2n-1}(-1+ce)^{n}}. \end{aligned}$$

it follows from Eq. (3.1) that

$$x_{8n-1} = \frac{x_{8n-5}x_{8n-7}}{x_{8n-3}(-1+x_{8n-5}x_{8n-7})}$$

$$=\frac{\frac{b^{2n}(-1+df)^n}{f^{2n-1}(-1+bd)^n}\frac{df^{2n-1}(-1+bd)^{n-1}}{b^{2n-1}(-1+df)^n}}{\frac{df^{2n}(-1+df)^n}{b^{2n}(-1+df)^n}(-1+\frac{b^{2n}(-1+df)^n}{f^{2n-1}(-1+bd)^n}\frac{df^{2n-1}(-1+bd)^{n-1}}{b^{2n-1}(-1+df)^n})}{b^{2n-1}(-1+df)^n}.$$

Hence, we have

$$x_{8n-1} = \frac{b^{2n+1}(-1+df)^n}{f^{2n}(-1+bd)^n}.$$

Similarly, we see that

$$x_{8n-2} = \frac{x_{8n-6}x_{8n-8}}{x_{8n-4}(-1+x_{8n-6}x_{8n-8})}$$
$$= \frac{\frac{ce^{2n-1}(-1+ac)^{n-1}}{a^{2n-1}(-1+ce)^n} \frac{a^{2n-1}(-1+ce)^{n-1}}{e^{2n-2}(-1+ac)^{n-1}}}{\frac{a^{2n}(-1+ce)^n}{e^{2n-1}(-1+ac)^n}(-1+\frac{ce^{2n-1}(-1+ac)^{n-1}}{a^{2n-1}(-1+ce)^n} \frac{a^{2n-1}(-1+ce)^{n-1}}{e^{2n-2}(-1+ac)^{n-1}})}.$$

Then

$$x_{8n-2} = \frac{ce^{2n}(-1+ac)^n}{a^{2n}(-1+ce)^n}$$

Similarly, one can simply prove the other relations. Thus, the proof is completed.

**Theorem 3.2.** Eq. (3.1) has three equilibrium point which are  $0, \pm \sqrt{2}$ , and are not locally asymptotically stable.

**Proof:** From Eq. (3.1), we see that

$$\bar{x} = \frac{\bar{x}^2}{\bar{x}(-1+\bar{x}^2)}$$

Then

$$\bar{x}^2(\bar{x}^2 - 2) = 0.$$

Thus the equilibrium point of Eq. (3.1) are  $\bar{x} = 0, \pm \sqrt{2}$ . Let  $f: (0, \infty)^3 \to (0, \infty)$  be a continuously differentiable function defined by

$$f(u, v, w) = \frac{vw}{u(-1 + vw)}$$

Therefore it follows that

$$f_u(u, v, w) = \frac{-vw}{u^2(-1+vw)},$$
  
$$f_v(u, v, w) = \frac{-w}{u(-1+vw)^2},$$
  
$$f_w(u, v, w) = \frac{-v}{u(-1+vw)^2},$$

we see that  $f_u(\bar{x}, \bar{x}, \bar{x}) = \pm 1$ ,  $f_v(\bar{x}, \bar{x}, \bar{x}) = -1$ ,  $f_w(\bar{x}, \bar{x}, \bar{x}) = -1$ . The proof follows by using Theorem A.

**Example 3.1.** We assume  $x_{-5} = -5$ ,  $x_{-4} = 3$ ,  $x_{-3} = 1$ ,  $x_{-2} = 0.1$ ,  $x_{-1} = 15$ ,  $x_0 = 1$ . See Fig.3.

**Example 3.2.** See Fig.4 when we take the initials  $x_{-5} = 10, x_{-4} = 5, x_{-3} = 2, x_{-2} = -1, x_{-1} = 4, x_0 = 8.$ 

Lemma 3.1. Eq. (3.1) has a periodic solutions of period four iff

 $x_{-3}x_{-5} = x_{-2}x_{-4} = x_{-1}x_{-3} = x_0x_{-2} = 2$  and  $x_{-1} = x_{-5}$ ,  $x_0 = x_{-4}$ , and will be take the form  $\{x_{-1}, x_0, x_{-3}, x_{-2}, ...\}$ .

**Proof:** Suppose that there exists a prime period four solution of Eq. (3.1) of the form

$$x_{-1}, x_0, x_{-3}, x_{-2}, x_{-1}, x_0, x_{-3}, x_{-2}, \dots$$

Then we see from the form of solution of Eq. (3.1) that

78



FIGURE 3. The behaviour of the solution of Eq. (3.1).



FIGURE 4. The stability of the solution of Eq. (3.1).

$$x_{8n-5} = \frac{b^{2n}}{f^{2n-1}}, \ x_{8n-4} = \frac{a^{2n}}{e^{2n-1}}, \ x_{8n-3} = \frac{df^{2n}}{b^{2n}}, \ x_{8n-2} = \frac{ce^{2n}}{a^{2n}},$$
$$x_{8n-1} = \frac{b^{2n+1}}{f^{2n}}, \ x_{8n} = \frac{a^{2n+1}}{e^{2n}}, \ x_{8n+1} = \frac{df^{2n+1}}{b^{2n+1}}, \ x_{8n+2} = \frac{ce^{2n+1}}{a^{2n+1}}$$

Then

$$b = f, a = e.$$

Hence, we have

$$x_{8n-5} = b, x_{8n-4} = a, x_{8n-3} = d, x_{8n-2} = c,$$
  
 $x_{8n-1} = b, x_{8n} = a, x_{8n+1} = d, x_{8n+2} = c.$ 

Thus we have a period four solution and the proof is complete. For confirming the result of this lemma, we consider numerical example for  $x_{-5} = 5$ ,  $x_{-4} = \frac{2}{5}$ ,  $x_{-3} = \frac{2}{5}$ ,  $x_{-2} = 5$ ,  $x_{-1} = 5$ ,  $x_0 = \frac{2}{5}$ . See Fig.5.

**Lemma 3.2.** Eq. (3.1) has a periodic solutions of period eight iff  $x_{-1} = x_{-5}$ ,  $x_0 = x_{-4}$ , and will be take the form  $\{x_{-1}, x_0, x_{-3}, x_{-2}, x_{-1}, x_0, \frac{x_{-3}}{(-1+x_{-1}x_{-3})}, \frac{x_{-2}}{(-1+x_{-2}x_{-4})}, \dots\}$ . **Proof:** Suppose that there exists a prime period eight solution of Eq. (3.1) of the form

$$x_{-1}, x_0, x_{-3}, x_{-2}, x_{-1}, x_0, \frac{x_{-3}}{(-1+x_{-1}x_{-3})}, \frac{x_{-2}}{(-1+x_{-2}x_{-4})},$$





 $x_{-1}, x_0, x_{-3}, x_{-2}, x_{-1}, x_0, \frac{x_{-3}}{(-1 + x_{-1}x_{-3})}, \frac{x_{-2}}{(-1 + x_{-2}x_{-4})}, \dots$ 

Then we see from the form of solution of Eq. (3.1) that

$$\begin{aligned} x_{8n-5} &= \frac{b^{2n}(-1+df)^n}{f^{2n-1}(-1+bd)^n} = b, \ x_{8n-4} = \frac{a^{2n}(-1+ce)^n}{e^{2n-1}(-1+ac)^n} = a, \\ x_{8n-3} &= \frac{df^{2n}(-1+bd)^n}{b^{2n}(-1+df)^n} = d, \ x_{8n-2} = \frac{ce^{2n}(-1+ac)^n}{a^{2n}(-1+ce)^n} = c, \\ x_{8n-1} &= \frac{b^{2n+1}(-1+df)^n}{f^{2n}(-1+bd)^n} = b, \ x_{8n} = \frac{a^{2n+1}(-1+ce)^n}{e^{2n}(-1+ac)^n} = a, \\ x_{8n+1} &= \frac{df^{2n+1}(-1+bd)^n}{b^{2n+1}(-1+df)^{n+1}} = \frac{d}{(-1+bd)}, \ x_{8n+2} = \frac{ce^{2n+1}(-1+ac)^n}{a^{2n+1}(-1+ce)^{n+1}} = \frac{c}{(-1+ce)}. \end{aligned}$$

Thus we have a period eight solution and the proof is complete. Now, we take a numerical example for proving the result of this lemma. We assume  $x_{-5} = 5$ ,  $x_{-4} = 1$ ,  $x_{-3} = 3$ ,  $x_{-2} = 0.1$ ,  $x_{-1} = 5$ ,  $x_0 = 1$ . See Fig.6.



FIGURE 6. Eq. (3.1) has period eight solutions.

The following sections proofs of the theorems and lemmas are similar to those required in the previous sections, thus they will be omitted.

4. The Third Equation 
$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(1-x_{n-3}x_{n-5})}$$

In this section, we will obtain form of the solution of the third difference equation is which is

$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(1 - x_{n-3}x_{n-5})}.$$
(4.1)

**Theorem 4.1.** Let  $\{x_n\}_{n=-5}^{\infty}$  be a solution of Eq. (4.1). Then for n = 0, 1, ...,

$$x_{4n-3} = \frac{df^n}{b^n} \prod_{i=0}^{n-1} \frac{(1-ibd)}{(1-(i+1)df)}, \ x_{4n-2} = \frac{ce^n}{a^n} \prod_{i=0}^{n-1} \frac{(1-iac)}{(1-(i+1)ce)},$$
$$x_{4n-1} = \frac{b^{n+1}}{f^n} \prod_{i=0}^{n-1} \frac{(1-(i+1)df)}{(1-(i+1)bd)}, \ x_{4n} = \frac{a^{n+1}}{e^n} \prod_{i=0}^{n-1} \frac{(1-(i+1)ce)}{(1-(i+1)ac)}.$$

**Theorem 4.2.** Eq. (4.1) has a unique equilibrium point which is  $\bar{x} = 0$ , and is not locally asymptotoically stable.

**Example 4.1.** We consider  $x_{-5} = 19$ ,  $x_{-4} = 9$ ,  $x_{-3} = 2$ ,  $x_{-2} = -3$ ,  $x_{-1} = 0.7$ ,  $x_0 = 9$ . See Fig.7.

**Example 4.2.** See Fig.8 when we take the initials  $x_{-5} = 3$ ,  $x_{-4} = 5$ ,  $x_{-3} = -1$ ,  $x_{-2} = 9$ ,  $x_{-1} = 2$ ,  $x_0 = 11$ .



FIGURE 7. Draw the numerical solution of Eq. (4.1).

5. The Fourth Equation  $x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(-1-x_{n-3}x_{n-5})}$ 

Now, we get the solution form of the fourth difference equation as follows

$$x_{n+1} = \frac{x_{n-3}x_{n-5}}{x_{n-1}(-1 - x_{n-3}x_{n-5})},$$
(5.1)

where  $x_{-3}x_{-5}$ ,  $x_{-2}x_{-4}$ ,  $x_{-1}x_{-3}$ ,  $x_0x_{-2} \neq -1$ .

**Theorem 5.1.** Let  $\{x_n\}_{n=-5}^{\infty}$  be a solution of Eq. (5.1). Then for n = 0, 1, ...,

$$x_{8n-5} = \frac{b^{2n}(-1-df)^n}{f^{2n-1}(-1-bd)^n}, \ x_{8n-4} = \frac{a^{2n}(-1-ce)^n}{e^{2n-1}(-1-ac)^n},$$
$$x_{8n-3} = \frac{df^{2n}(-1-bd)^n}{b^{2n}(-1-df)^n}, \ x_{8n-2} = \frac{ce^{2n}(-1-ac)^n}{a^{2n}(-1-ce)^n},$$





$$x_{8n-1} = \frac{b^{2n+1}(-1-df)^n}{f^{2n}(-1-bd)^n}, \ x_{8n} = \frac{a^{2n+1}(-1-ce)^n}{e^{2n}(-1-ac)^n},$$
$$x_{8n+1} = \frac{df^{2n+1}(-1-bd)^n}{b^{2n+1}(-1-df)^{n+1}}, \ x_{8n+2} = \frac{ce^{2n+1}(-1-ac)^n}{a^{2n+1}(-1-ce)^{n+1}}$$

**Theorem 5.2.** Eq. (5.1) has a unique equilibrium point which is  $\bar{x} = 0$ , and is not locally asympotoically stable.

**Example 5.1.** Suppose that  $x_{-5} = 9$ ,  $x_{-4} = 2$ ,  $x_{-3} = -1$ ,  $x_{-2} = 3$ ,  $x_{-1} = 13$ ,  $x_0 = 1$ . See Fig.9.

**Example 5.2.** See Fig.10 when we take  $x_{-5} = 7$ ,  $x_{-4} = 5$ ,  $x_{-3} = -2$ ,  $x_{-2} = 3$ ,  $x_{-1} = 9, \ x_0 = 4.$ 



FIGURE 9. The stability of the solution of Eq. (5.1).

**Lemma 5.1.** Eq. (5.1) has a periodic solutions of period four iff  $x_{-3}x_{-5} = x_{-2}x_{-4} =$  $x_{-1}x_{-3} = x_0x_{-2} = -2$  and  $x_{-1} = x_{-5}$ ,  $x_0 = x_{-4}$ , and will be take the form  ${x_{-1}, x_0, x_{-3}, x_{-2}, \dots}.$ 

We give a numerical example for verifying the result of this lemma. Suppose that  $x_{-5} =$ 

8,  $x_{-4} = \frac{-2}{8}$ ,  $x_{-3} = \frac{-2}{8}$ ,  $x_{-2} = 8$ ,  $x_{-1} = 8$ ,  $x_0 = \frac{-2}{8}$ . See Fig.11. **Lemma 5.2.** Eq. (5.1) has a periodic solutions of period eight iff  $x_{-1} = x_{-5}$ ,  $x_0 = x_{-4}$ , and will be take the form  $\{x_{-1}, x_0, x_{-3}, x_{-2}, x_{-1}, x_0, \frac{x_{-3}}{(-1 - x_{-1} x_{-3})}, \frac{x_{-2}}{(-1 - x_{-2} x_{-4})}, \dots\}$ .



FIGURE 10. The numerical solution of Eq. (5.1).



FIGURE 11. Eq. (5.1) has period four solutions.

Now, we take a numerical example for proving the result of this lemma. We assume  $x_{-5} = 1$ ,  $x_{-4} = 4$ ,  $x_{-3} = 2$ ,  $x_{-2} = 8$ ,  $x_{-1} = 1$ ,  $x_0 = 4$ . See Fig.12.



FIGURE 12. Eq. (5.1) has period eight solutions.

### 6. CONCLUSION

We found solutions for four difference equations in theorem 2.1, theorem 3.1, and theorem 4.1. and theorem 5.1, respectively. On the four difference equations, the dynamics of its behavior were studied. theorem 2.2, theorem 3.2, theorem 4.2 and theorem 5.2 stated the condition of the fixed point to be not locally asymptotic stable. Hence, we analyzed the behavior of the solutions of the difference equations Eq. (3.1) in Lemma 3.1, lemma 3.2 has periodic solutions of periods four and eight, respectively. Also, Eq. (5.1) in lemma 5.1 and lemma 5.2 has periodic solutions of period four and eight, respectively. For verification, numerical simulation was used and figures 1,2,3,4,5,6,7,8,9,10,11,12 confirmed our results. In future, we will to study these equations with periodic coefficients.

## 7. ACKNOWLEDGEMENTS

We would like to thank the reviewers for their thoughtful comments and efforts towards improving our article.

### REFERENCES

- [1] T. D. Alharbi and E. M. Elsayed. The solution expressions and the periodicity solutions of some nonlinear discrete systems, Pan-American Journal of Mathematics, 2(2023),3.
- [2] T. D. Alharbi and E. M. Elsayed. On the behavior of the nonlinear difference equation  $y_{n+1} = Ay_{n-1} + y_{n-1}$  $By_{n-3} + \frac{Cy_{n-1} + Dy_{n-3}}{Fy_{n-3} - E}$ , Int. J. Anal. Appl.,(2023), 21:17.
- [3] T. D. Alharbi and E. M. Elsayed. Forms of Solution and Qualitative Behavior of Twelfth-Order Rational
- Difference Equation, International Journal of Difference Equations, 17(2)(2022), 281-292. [4] C. Cinar. On the positive solutions of the difference equation  $x_{n+1} = \frac{ax_{n-1}}{1+bx_nx_{n-1}}$ , Appl. Math. Comp., 156 (2004),587-590.
- [5] E. M.Elsayed. Dynamics and behavior of a higher order rational difference equation, J. Nonlinear Sci. Appl.,9(2016),1463-1474.
- [6] E. M. Elasyed and M. T. Alharthi. Qualitative Behavior and Solutions of Sixth Rational Difference Equations, Pure and Applicable Analysis, 2023(2023): 3, 1-26..
- [7] E. M. Elasyed and M. T. Alharthi. The form of the solutions of fourth order rational systems of difference equations, Annals of Communications in Mathematics, 5(3)(2022), 161-180.
- [8] E. M. Elsayed and J. G. AL-Juaid. The Form of Solutions and Periodic Nature for Some System of Difference Equations, Fundamental Journal of Mathematics and Applications, 6 (1) (2023), 24-34.
- [9] E. M. Elsayed, J. G. AL-Juaid and H. Malaikah. On the Solutions of Systems of Rational Difference Equations, Journal of Progressive Research in Mathematics, Vol 19 (2) (2022), 49-59.
- [10] E. M. Elsayed, J. G. AL-Juaid and H. Malaikah. On the dynamical behaviors of a quadratic difference equation of order three, European Journal of Mathematics and Applications, 3(2023), Article ID 1.
- [11] E. M. Elsayed and B. S. Alofi. The periodic nature and expression on solutions of some rational systems of difference equations, Alexandria Engineering Journal, 74 (2023), 269-283.
- [12] E. M. Elsayed and F. A. Al-Rakhami. On Dynamics and Solutions Expressions of Higher-Order Rational Difference Equations, Ikonion Journal of Mathematics, 5(1) (2023), 39-61.
- [13] E. M. Elsayed and M. M. Alzubaidi. On a Higher-Order Systems of Difference Equations, Pure and Applicable Analysis, 2023 (2023): 2.
- [14] E. M. Elsayed and M. M. El-Dessoky. Dynamics and global behavior for a fourth-order rational difference equation, Hacet. J. Math. Stat., 42 (2013), 479-494.
- E. A. Grove and G. ladas. Periodicities in Nonlinear Difference Equations, Chapman & Hall/ CRC Press, [15] 2005..
- [16] T. F. Ibrahim On the third order rational difference equation  $x_{n+1} = \frac{x_n x_{n-2}}{x_{n-1}(a+bx_n x_{n-2})}$ , Int. J. Contemp. Math. Sci., 4 (2009), 1321-1334.
- [17] R. Karatas, C. Cinar and D. Simsek. On positive solutions of the difference equation  $x_{n+1}$  =  $\frac{x_{n-5}}{x_{n-2}x_{n-5}}$ , Int. J. Contemp. Math. Sci., 1 (2006), 495-500.  $\overline{1+x_n}$
- [18] V. L. Kocic and G. Ladas. Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic Publishers, Dordrecht, (1993).

- [19] M. R. S. Kulenovic and G. Ladas. Dynamics of Second Order Rational Difference Equations with Open Problems and Conjectures, Chapman & Hall, CRC Press, London, (2001).
- [20] A. S. Kurbanli. On the behavior of solutions of the system of rational difference equations, World Appl. Sci. J. ,10 (2010), 1344-1350.
- [21] H. Ma, H. Feng, J. Wang and W. Ding. Boundedness and asymptotic behavior of positive solutions for difference equations of exponential form, J. Nonlinear Sci. Appl., 8 (2015), 893-899.
- [22] R. Memarbashi. Sucient conditions for the exponential stability of nonautonomous difference equations, Appl. Math. Lett., 21 (2008), 232-235.
- [23] A. Neyrameh, H. Neyrameh, M. Ebrahimi and A. Roozi. Analytic solution diffusivity equation in rational form, World Appl. Sci. J., 10 (2010), 764-768.
- [24] M.Saleh, N. Alkoumi and Aseel Farhat. On the dynamic of a rational difference equation  $x_{n+1} = \frac{\alpha + \beta x_n \gamma x_{n-k}}{Bx_n + Cx_{n-k}}$ , Chaos Solutions Fractals, 96(2017), 76-84.
- [25] W. Wang and J. Tian. Difference equations involving causal operators with nonlinear boundary conditions, J. Nonlinear Sci. Appl., 8 (2015), 267-274.
- [26] E. M. E. Zayed. Dynamics of the nonlinear rational difference equation  $x_{n+1} = Ax_n + Bx_{n-k} + \frac{px_n + x_{n-k}}{q + x_{n-k}}$ , Eur. J. Pure Appl. Math., 3(2)(2010), 254-268.
- [27] E. M. E. Zayed and M. A. El-Moneam. On the rational recursive sequence  $x_{n+1} = \frac{\alpha + \beta x_n \gamma x_{n-1}}{A + B x_n + C x_{n-1}}$ , Comm. Appl. Nonlinear Anal., 12 (2005), 15-28.

#### J. G. AL-JUAID

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, TAIF UNIVERSITY, P. O. BOX 11099, TAIF 21944, KSA.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, KING ABDULAZIZ UNIVERSITY, P. O. BOX 80203, JEDDAH 21589, KSA.

Email address: jo.gh@tu.edu.sa

#### E. M. ELSAYED

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, KING ABDULAZIZ UNIVERSITY, P. O. BOX 80203, JEDDAH 21589, KSA.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, MANSOURA UNIVERSITY, MANSOURA 35516, EGYPT.

Email address: emmelsayed@yahoo.com

#### H. MALAIKAH

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCES, KING ABDULAZIZ UNIVERSITY, P. O. BOX 80203, JEDDAH 21589, KSA.

Email address: hmalaikah@kau.edu.sa